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https://physcourse.thu.edu.tw/mengwen/
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【上學期】

主尺：6-7mm
6.XX mm
1) 直接讀值：6.35mm
2) 計算結果：20mm-3.5*(39mm/10)=6.35mm
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【上學期】

主尺：15-16mm
15.XX mm
15.70 mm(yes)
15.7 mm(NO)

0.05mm

0.02mm

這把游標尺不需要估計值。
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【上學期】

主尺：29-30
29.XX mm
29.6mm? (yes)
29.60mm? (NO)

0.1mm

這把游標尺不需要估計值。
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【上學期】



27

【上學期】



28




【上學期】
5.20?
5.70?

主尺
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主尺：
7

套筒：32.6

讀值：7+0.325=7.326
準確值：7.32
估計值：0.006



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所以讀值是：1.525 mm
讀值：1.5+0.025=1.525
準確值：1.52
估計值：0.005




主尺：
1.5

套筒對齊2-3刻度之間
估計值0.005mm
 0.025 mm
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【上學期】
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【上學期】

d(mm) d(m) log d T(sec) logT

金屬環1 40 0.04 -1.398 0.401 -0.396

金屬環2 80 0.08 -1.097 0.568 -0.246

金屬環3 150 0.15 -0.824 0.777 -0.109

金屬環4 300 0.3 -0.523 1.099 0.041

金屬環5 400 0.4 -0.398 1.269 0.104
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【上學期】
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【上學期】
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【上學期】

半圓形透鏡是壓克力材質
折射率約為1.49
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